AOTIZTIKOI APIOMOAEIKTEZ — ACCOUNTING RATIOS

1. Acikteg Arédoong (R Kepdogopiag) — Profitability Ratios

(i) Acgiktng MeikToU Képdoug rpog Kéotog NwARocewyv (Mark-up)

Agiktng MeikToU Képdoug Trpog KoaTog MuwARoewy= —ekt0Kepdos -y 40,

Ko60t0¢ TwANoEwV

Gross Profit

Mark up = X 100 =%

Cost of sales

(ii) AgikTng MeikToU Mep1Bwpiou R MeikTou Képdoug (Gross Profit Margin)

Mektd KépSog

Agiktng MeikTou Képdoug = X 100 = %

Mwoeig

Gross Profit
Revenue

Gross Profit margin = x 100

(iii) Agiktng KaBapou MepiBwpiou | KaBapou Képdoug (Net Profit Margin)

KaBapb Asitovpyikd KépSog % 100 = %

Aciktng KaBapou Képdoug =

HwMoew

Operating Profit

Net Profit margin = X 100 = %

Revenue

(iv) Agiktng Ar6d00nGg ATraoXoAoUpevwy - ETrevdupévwv KepaAaiwv
(Return on Capital Employed-ROCE)

p . p Kabapa Képd Vv and TOKoUS & POPOUGH
(a) ATT6500n ATraoxoAoUpevwy Kepahaiwy = ———b-—"PON TPTY 770 TOROBE = POPOTE™ % 100 = %
ZVvoldo Artao yodlovuévwv K epalaiwv

Net profit before interest& taxes*
profit bef x 100

ROCE =

Total Capital Employed

*or operating profit

KaBapa Képdn puetd amd t6kovc& popovg

(b) ATrodoon AtraoxoAoupevwy Kepalaiwy = x100 =%

Amaoyodovusva Kepalaia

Net profit after interest & taxes
ROCE*+ = Netprofit after x 100
owners'Capital Employed

** or Return on Equity or Return on shareholders’ funds (ROSF)
2. Agikteg PeuotoéTnTag — Liquidity Ratios

(i) Agiktng KukAog@opiakng (Aq Mevikng) Peuotétnrag (Current Ratio)

KvkAo@opiakd EvepynTikd

Aciktng KukAogoplakrg Peuotdtntag =
ns popiakns ras BpayvmpdOeoues YO Y PEWOTELG

Current Assets

Current ratio = —
Current Liabilities



(ii) AcikTng MpayuaTtikAg (A EI81kAG) PeuoTétnTag (Acid Test or Quick ratio)

Kvklogopiakd Evepyntiké—Amobéuata

Acgiktng MpaypaTikig Peuotdtntag =

Bpayvmpo0eoues YTOYPEDOELS

Current Assets—Inventory

Acid Test (or Quick ratio) =

Current Liabilities

3. Agikteg ApaoTtnpidTnTag — Activity Ratios (Use of assets)

(i) Acgiktng KukAogopiakng Taxutnrag Atrofepdartwy (Inventory Turnover)

Aeiktne Kukhogopiakic Taxutntag AToBepdTwy = —aorosTwdiceoy ), e

M¢éoog 0Opog AmofBeudaTtwv

Cost of Sales
Average Inventoryx

Inventory Turnover = =7 times

*Average inventory= (Opening+closing)/2

(i) Méon MNepiodog Eiompagng (Average collection period)

XpewaTeg

Méon Trepiodog sioTrpagng = X 365 puépeg =? uépeg

HwAMoels ue Tiotwan

. . Tradereceivabl
Average collection period = ————“"22%% « 365 days = ? days

Credit sales
(iii) Méon Mepiodog NMAnpwung (Average payment period)

MoTWTES

Méan 1TePiodog TTANPWUNG =

X 365 uépeg = ? uépeg

Ayopég ue mioctwon

Average payment period = —2d¢ Pa¥ables o 345 3495 =? Days

Credit purchases

4. Acikteg Xpéoug p MéxAeuong (Solvency Ratios)

(i) Agiktng MéxAeuong (Gearing ratio)

P . Ke@dA Bepov &M *
A€IKTF]§ MOX)\EUOT]Q - £@AAaL0 oTABEPOV ELGOSHUATOG % 100 = - %

Z0V0A0 ATTa o Y 0A0VUEV WY KEQPAAXIWV**

. . Fixed Return Funding*
Gearing ratio = , 9~ %100 = - %
Total Capital Employedx*

* Fixed Return Funding: Preference shares + debentures + other non-current liabilities

**Total capital employed: OSC + PSC + Reserves + non-current liabilities (or total assets
less current liabilities)



